Mixed Age Team Work!
Working with Others

SOLUTION

Your Task

There are five offices arranged in a row.  Working in pairs, use the clues below to identify which employee works in which office. Complete the answer grid below

Clues

1. The chemist rides a bike

2. The accountant wears sandals

3. Sally is a psychologist

4. Sue wears a dress

5. The chemist’s office is immediately to the right of the secretary’s office

6. The employee with the sandals works in the office next to the employee with shorts

7. The psychologist works in the office next to the barrister

8. Helen wears moccasins

9. The owner of the bike wears trousers

10. John works in the first office

11. The employee who wears boots works in the office next to the employee who wears an overall

12. The employee who travels by train works in the middle office

13. Morris travels by bus

14. The employee in the office next to Morris has a car

15. The employee who travels by taxi wears clogs

16. John works in the office next to the barrister

17. The employee who wears slippers also wears a skirt

Answer Grid

	Office
	1
	2
	3
	4
	5

	Name
	John
	Morris
	Sally
	Sue
	Helen

	Job
	Accountant
	Barrister
	Psychologist


	Secretary
	Chemist

	Transport
	Car


	Bus
	Train
	Taxi
	Bike

	Clothes
	Overall
	Shorts


	Skirt
	Dress
	Trousers

	Shoes
	Sandals
	Boots


	Slippers
	Clogs
	Moccasins


